Step-it-up Game Questions
General

	The mandate of the ILO deals with what?
	Labour and industrial relations


	The ILO has discontinued RBM in favour of the Human Rights-Based Approach?
	False.  The ILO’s support of RBM is stronger than ever.


	Who has published commonly agreed standards for RBM?
	There are no commonly agreed standards for RBM.  UNDP published an early working paper.


	Name one of the five pillars of RBM?  (Ask this question five times)


	1 Definition of strategic goals
2 Specification of expected results
3 Ongoing monitoring and assessment
4 Continuous feedback 

5 Integrating lessons learned 


	Who invented cornflakes?
	William Kellogg


	The intent of RBM is to change the focus of ILO programming from results to activities.
	False, from activities to results




Pillar One:  Strategic Goals

	DWCP document should contain how many priority policy outcomes
	three


	How many outcomes should be specified for each priority? 
	For each priority, a maximum of three outcomes are specified


	Outcomes are often defined as changes in what?
	Outcomes are significant changes (policies, knowledge, skills, behaviours or practices, etc.)


	All ILO projects should support only one outcome.  True or False?
	False, projects should support one or more outcomes.


	How is progress towards outcomes measured?
	Indicators


	How many indicators should be identified for each outcome?
	1-3


	Outcome indicators should be SMART.  What does the [insert letter] stand for?  (Ask this question five times)


	S specific
M measurable

A achievable

R relevant

T time-bound


	DWCP document should contain how many outputs per indicator
	2-3


	When is a baseline established?
	The first time that data is collected on the indicators, a baseline is established


	How are targets computed?
	Targets are the baseline measurement plus the amount of improvement one hopes to realize.


	How are milestones determined?
	Targets are divided into time-bound (e.g., quarterly) increments called milestones


	How are impacts realized?
	By achieving the Strategic Goal or Priority


	What should all DWCP documents contain?
	A Results and monitoring framework


	What does evaluability mean?
	Able to be evaluated


	What would make a DWCP unevaluable?
	It would be unevaluable if it were missing a key component.


Pillar Two:   Specification of expected results that contribute to goals and align programmes, processes and resources

	How are expected results specified?


	They are specified through a results chain




	Name one of the elements of a results chain?  (Ask this question five times)
	1.  resources

2.  activities

3.  outputs

4.  outcomes

5.  impacts




	What is the sequence of elements in the results chain?

	Inputs, activities, outputs, outcomes, impact




	What type of logic connects the elements of a results chain?
	If-then logic


	How can one determine the alignment of programes, processes and resources?
	


	How should stakeholders use information from the RBM system?
	Accountability, learning and managing




	Available resources provide the focus for action?
	False.  Strategic goals provide a focus for action.


	Give two examples of resources that support strategic goals?
	Financial and human resources


Pillar Three:  On-going M&E integrating lessons learned into future planning

	Who monitors outcome indicators?
	Indicators are monitored by the Country Office



	To whom should feedback on milestones be reported?
	Feedback on milestones is continuously reported to stakeholders



	How is progress towards strategic goals measured?
	Progress is measured by on-going monitoring and assessment of performance.


	How is RBM different from PCM?
	RBM is a technique for managing results. PCM is a technique for managing projects.


	How are RBM and PCM complementary?
	Principles of RBM can improve the management of projects.


	What type of evaluation approach is most compatible with RBM?
	Goal-based evaluation


	What is the strength of the goal-based evaluation approach?
	The strength is that at the end of the programme one knows what goals have been achieved.


	What is the weakness of the goal-based evaluation approach?
	It does not easily deal with lessons learned.


	What is a rule of thumb for determining an output?
	If you can count it; it is an output.


	Outcomes are often defined as changes in what?
	Level of capacity


	In addition to evaluation, results chains are a useful tool for what?
	Programme design


Pillar Four   Improved accountability to improve performance
	Why is it important to know how strategic goals were achieved?
	It permits scale-up and replication


	What is the difference between a base-line and a needs assessment?
	A baseline is the starting level of a new programme.  A needs assessment tells what beneficiaries need or want.


	Evaluation for accountability focuses on what?
	Outcomes


	Evaluation for performance improvement focusses on what?
	Processes


